552 Chapter 8 Infinite Series

If we multiply both sides by 4, we find another series for x:
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By comparing the spreadsheet in the margin with the one in Figure 822, we see thef
Machin’s formula for 7 converges much more rapidly than the Leibniz formula. Indeeg;
the sum of the first seven terms M, = 3141592654 already coincides with 7 for the
first eight decimal places. ]
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8.7 PROBLEM SET

°Find the convergence set for the power series given in Problems
1-28.
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OFind the radius of convergence R in Problems 29-34.
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In Problems 35-38, find the derivative f(x) by differentiating terpg
by term. k
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In Problems 3942, find J- 7 S(u)du by integrating terin by term,
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43. Counterexample Problem Show that the series
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converges for all x. Differentiate term by term to obtain the
series
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Show that this series diverges for all x. Why does this no

violate Theorem 8.237
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Show that the power series
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has radius of convergence R.



